Part number: H YDROMA HYDROMA

HYDRAULICKE SYSTEMY  UKLADY HYDRAULICZNE TWAPABIVNYECKWE CUCTEMbI

Technical date of Aluminum motors

No Type Power Speed | Amps | frequency EFF. BE Rated LRT | BDT | LRA | Weight
) kW  HP | r/min | 400V Hz % cosp |Torque Nm{ RLT | RLT | RLA kg |
1 |1A561-2 0,09 0,12 [ 2800 | 0,27 50 62,0 0,77 0,31 22 | 21 52 36
2 |1A562-2 0,12 0,18 | 2800 | 0,35 50 64,0 0,78 0,41 2,2 2.1 5.2 4
3 [1A63M1-2 0,18 0,25 | 2810 | 0,50 50 65,0 0,80 0,61 2.3 2,3 55 4,5
4 |1AB3M2-2 0,25 034 | 2810 | 0,65 50 68,0 0,81 0,85 2,3 2,3 5,5 4,7
5 [1A71M1-2 037 05 | 2820 | 0,96 50 69,0 0,81 1,25 2,2 2,3 6,1 6
6 [1A71M2-2 055 0,75 | 2820 | 1,30 50 74,0 0,82 1,86 2,3 23 6,1 6,3
7 |2A80M1-2 0,75 1 2850 | 1.70 50 77.4 0,83 251 2.3 2.3 6,8 11
8 [2A80M2-2 L 1,5 | 2870 | 240 50 79,6 0,83 3,66 2,3 2,3 7.3 12,5
9 |2A905-2 1.5 2 2880 | 3,20 50 81,3 0,84 4,97 23 23 7,6 14,5
10 |2A90L-2 22 3 2880 | 4,50 50 83,2 0,85 7,30 23 P 7.8 18
11 |2A100L1-2 3 4 2880 | 5,90 50 84,6 0,87 9,95 23 23 8,1 21
12 |2A112M-2 4 9.5 2900 | 7,60 50 85,8 0,88 13,17 20 23 83 28
13 |2A13281-2 55 75 | 2910 |10,40 50 87.0 0,88 18,05 2,2 2,3 8 40,5
14 |2A13252-2 5 10 2910 |13,80 50 88,1 0,89 24,61 2.2 2.3 7.8 49
15 |2A160M1-2 11 15 2940 |[20,00 50 89.4 0,89 35,73 2,2 2.3 7.9 95
16 |2A160M2-2 15 20 2940 |26,90 50 90,3 0,89 48,72 2,2 2 8 103
17 |2A160L-2 18,5 25 2940 ]33,00 50 90,9 0,89 60,09 2 ] 8,1 119
18 |1A561-4 0,06 0,08 [ 1340 | 0,22 50 56,0 0,70 0,43 2.1 20 | 40 3,6
19 |1A562-4 0,09 0,12 | 1340 | 0,31 50 58,0 0,72 0,64 2.1 20 | 40 4
20 |1A63M1-4 0,12 0,18 | 1360 | 042 50 57,0 0,72 0,84 2,2 2,1 4.4 4,5
21 |1A63M2-4 0,18 025 | 1360 | 0,59 50 60,0 0,73 1,26 22 | 21 4.4 4,7
22 |1AT1IM1-4 025 0,34 | 1400 | 0,75 50 65,0 0,74 1,71 2,2 21 5,2 6
23 |1AT1IM2-4 0,37 05 | 1400 | 1,10 50 67,0 0,75 2,52 2,2 2.1 5,2 6,3
24 |1A80M1-4 0,65 0,75 | 1400 | 1,44 50 71,0 0,75 3,75 2,3 24 | 52 10
25 |2A80M2-4 0,75 1 1420 | 1,80 50 796 0,75 5,04 23 23 6.5 13
26 |2A90S-4 11 15 1420 | 2,60 50 81,4 0,75 7,40 23 23 6,6 165
27 |2A90L-4 155 2 1420 | 3,50 50 82,8 0,75 10,09 23 23 6,9 20,5
28 |2A100L1-4 2.2 3 1440 | 4,70 50 84,3 0,81 14,59 23 2,3 7.5 24
29 |2A100L2-4 3 4 1440 | 6,20 50 85,5 0,82 19,90 2,3 2.3 7,6 28,5
30 |2A112M-4 4 55 | 1445 | 8,10 50 86,6 0,82 26,44 2,3 2,3 7.7 36,5
31 |2A1325-4 5,5 7.5 | 1450 |11,10 50 87,7 0,82 36,22 2 2.3 7,5 47.5
32 |2A132M-4 D 10 1450 14,70 50 88,7 0,83 49 40 2 2.9 7.4 59
33 |2A160M-4 11 15 1470 120,80 50 89,8 0,85 71,46 2,2 2.3 7.5 98
34 |2A160L-4 15 20 1470 27,80 50 90,6 0,86 97,45 2,2 2,3 7.5 115
35 |1A71M1-6 018 025 | 900 | 070 50 56,0 0,66 1,91 2,0 1.9 4,0 6
36 |1AT1IM2-6 025 034 | 900 | 090 50 59,0 0,68 2,65 2,0 1.9 | 40 6,3
37 |1A80M1-6 037 05 910 | 117 50 62,0 0,70 3,88 2,0 1,9 4,7 10
38 |1A80M2-6 055 075| 920 | 1,60 50 65,0 0,72 571 2,1 1,9 4.7 11
39 |2A90S-6 0,75 1 930 | 2,00 50 75,9 0,72 7,70 2,1 2.1 5,8 16,5
40 |2A90L-6 1 1.5 930 | 2,80 50 78,1 0,73 11,30 o 2 59 21
41 |2A100L1-6 %] 2 930 | 3,70 50 79,8 0,74 15,40 2,1 2.3 6 23.4
42 |12A112M-6 22 3 945 | 5,20 50 81,8 0,74 2223 2 2. 6 1.5
43 |2A132S8-6 3 4 960 110 50 83,3 0,74 29,84 2,0 2.1 6,2 40,5
44 [2A132M1-6 4 5.5 965 | 9,20 50 84,6 0,74 39,59 2,0 21 6,8 49
45 [2A132M2-6 5.5 7.5 965 [12,30 50 86,0 0,75 54,43 2,0 2,1 7.1 62,5
46 [2A160M-6 7.5 10 970 |[15,90 50 87,2 0,78 73,84 24 2.1 6,7 94
47 [2A160L-6 11 15 970 |[22,70 50 88,7 0,79 108,30 21 23 6,9 106
48 |1A80M1-8 0,18 025 690 | 0,79 50 51,0 0,61 2,49 1,9 1,8 3,3 10
49 |1A80M2-8 025 034 | 690 | 1,05 50 54,0 0,61 3,46 1.9 1.8 3.3 11
50 [1A90S-8 037 05 690 | 1,40 50 62,0 0,61 5,12 1,9 18 | 40 13
51 |1A90L-8 055 075 | 690 | 2,06 50 63,0 0,61 7,61 2,0 1.8 | 4.0 48
52 |1A100L1-8 0,75 1 700 | 2,30 50 70,0 0,67 10,23 2,0 18 | 40 23
53 |1A100L2-8 11 1,5 700 | 3,20 50 72,0 0,69 15,01 2,0 1,8 5,0 25
54 |1A112M-8 1,5 2 700 | 4,22 50 74,0 0,70 20,46 2,0 1,8 5,0 28
55 [1A132S5-8 22 3 710 | 5,70 50 79,0 0,71 29,59 2,0 1.8 | 6.0 40
56 |1A132M-8 3 4 710 | 7,40 50 80,0 0,73 40,35 2,0 18 | 6,0 45
57 [1A160M1-8 4 5,5 720 | 9,78 50 81,0 0,73 53,06 2,0 19 | 6,0 71

58 [1A160M2-8 556 75 720 [12,90 50 83,0 0,74 72,95 20 | 20 | 65 82,5




Mounting and Overall Dimensions IMB3 / B5
IMB3 H56-160
= L
e i
AT o i
e
B m——= 9
Wit
Jejel] 8 | '
- 8 -
- - - — F
o 1%
5 1
T [N\.DH
--D-
g
e | === A
KK
Framesize| A | AA|AB|(BB|HA|AC|AD| B | C | D DH E F G H K METRIC FG LIM|IN|LP]IS|T
56 90|23 )|115| 88| 7 |110]/100| 71 [ 36| 9 Mdxi2 | 20 | 3 |7.2 | 56 | 58 [2-M20x1.5] 2-PG13.5]|199]|100| 80 | 120| &7 | 3,0
63 | 100] 24 |135]100] 7 [120[109| 80 [ 40 | 11 | Max12 | 23 | 4 |85 | 63 | 7.0 [2M20x1.5] 2-PG13.5| 217 115 95 | 140| 10| 3.0
71 112] 26 |150|110| 8 |136]|127]| 90 [ 45| 14 | M5x12 | 30 | 5 [110]| 71 | 7,0 |2-M20x1.5| 2-PG13.5]| 245|130 110] 160 |®12| 3,5
80 125]| 35 |165[125| 9 |158]140]100( 50| 19| M6x16 | 40 | 6 |155]| 80 |10,0 |2-M25x1.5| 2-PG16 | 300|165 130|200 |®12| 3,5
90S__ [ 140] 37 180|125 10 [ 177 160[100] 56 | 24 | M8x19 | 50 | 8 |20,0] 90 [10.0 [2-M25x1.5] 2-PG16 | 330 165 130] 200 |$12| 3,5
90L 140| 37 | 180|150| 10 | 177|160|125| 56 | 24 | M8x19 | 50 | 8 |20,0] 90 [10,0 [2-M25x1.5| 2-PG16 | 360) 165 130 200 [#12]| 3,5
100L 160| 40 | 205]172] 11 |198]|172]|140| 63 | 28 | M10x22 | 60 | 8 |24,0] 100 (12,0 |2-M32x1.5] 2-PG21 | 400|215 180| 250 |$15] 4,0
112M 190]| 41 |230)181| 12 |220]190]140( 70 | 28 | M10x22 | 60 | 8 |24,0] 112]12,0 |2-M32x1.5| 2-PG21 |435] 215 180] 250 |®15| 4,0
1325 216] 51 |270|186| 15 |259| 210|140 89 | 38 | M12x28 | 80 | 10 |33,0] 132 |12,0 [2-M32x1.5| 2-PG21 | 470| 265| 230] 300 |®15/4,0
132M 216] 51 |270]224] 15 |259| 210|178 89 | 38 | M12x28 | 80 | 10 |33,0] 132 |12.0 [2-M32x1.5] 2-PG21 | 510| 265|230 300 |$15| 4.0
160M 254| 55 |320|260] 18 | 315|255]|210|108] 42 | M16x36 | 110| 12 |37,0| 160 |15,0 |2-M40x1.5| 2-PG29 | 615| 300] 250| 350 | #19] 5,0
160L 254] 55 |320|304] 18 | 315| 255|254 | 108] 42 | M16x36 | 110 | 12 |37,0] 160 |15,0 {2-M40x1.5] 2-PG29 | 660 | 300| 250] 350 [$18] 5,0
Mounting and Overall Dimensions IMB14A / B14B
IMB14A H56-160
KK
71| ¥
I'___ - -
i E
F pllas - s SO, 2
oz | ; =1 |/ AN
- o
Fa e = £ =
| = 1 = =t
L = L ] Iilr‘-?'nT1
IMB14B H56-160 il
D
¥ 5 i, = f
¥ _.'.Q;_..g.{_.. 2
' | —t————— 4 |
: KK B14A B14B
Cemesol N0 | 40D o E1F|° [weme PG LIemlrlels Il LlrlalT
56 | 110100 9 | Maxi2 | 20 | 3 | 7.2 | 2-M20x1.5 | 2-PG13.5 | 199 | 65 | 50 | 80 | M5 | 25 | 85 | 70 | 105 | M6 | 2.5
63 [120[109] 11 | Mdxi2 | 23 | 4 |85 | 2-M20x1.5 | 2-PG13.5 | 217 | 75 | 60 | 90 | M5 | 25 | 100 | 80 | 120 | M6 | 2.5
71| 136127 ] 14 | M5x12 | 30 | 5 |11.0| 2-M20x1.5 | 2-PG13.5 | 245 | 85 | 70 | 105 | M6 | 25 | 115 | 95 | 140 | M8 | 3.0
80 158 | 140 | 19 MEx16 40 6 |155| 2-M25x1.5 | 2-PG16 | 300 | 100 | 80 | 120 | M6 | 3,0 | 130 | 110 | 160 | M8 | 35
90s 177 | 160 | 24 M8x19 50 8 |20,0| 2-M25x1.5 2PG16 | 330 | 115 ] 95 | 140 | M6 | 3,0 | 130 | 110 | 160 | M8 | 3,5
90L 177 | 160 | 24 M8x18 50 8 |200| 2-M25x1.5 | 2-PG16 | 360 ] 115] 95 | 140 ] M6 [ 30 [ 130 | 110 | 160 | M8 | 3,5
100L 198 | 172 | 28 M10x22 60 8 |240| 2-M32x1.5 | 2-PG21 400 | 130 | 110 | 160 | M8 | 3,5 | 165 | 130 | 200 | M10 | 3,5
112M 220|190 | 28 M10x22 60 8 |240| 2-M32x1.5 2-PG21 435 | 130 | 110 | 160 | M8 | 3.5 165 | 130 | 200 | M10.| 3,5
1325 2591210 | 38 M12x28 80 10 |33,0 | 2-M32x1.5 2-PG21 470 | 165 | 130 | 200 | M10 | 3,5 215 ]| 180 | 250 | M12 | 4,0
132M 289 | 210 | 38 M12x28 80 | 10 |33,0] 2-M32x1.5 2-PG21 510 | 165 | 130 ] 200 | M10 | 3,5 | 215 | 180 | 250 | M12| 4,0
160M__| 315 | 255 | 42 | M16X36 | 110 | 12 | 37 | 2-M40x1.5 | 2-PG29 | 615 | 215 | 180 | 250 | M12 | 4,0 | 265 | 230 | 300 | M16 | 5,0
160L 315[255| 42 | M16X36 | 110 | 12 | 37 | 2-M40x1.5 | 2-PG29 | 670 | 215 | 180 | 250 | M12 | 4,0 | 265 | 230 | 300 | M16| 5.0




Velikost lozZisek

Strana pohonu

Strana ventilatoru

Velikost motoru | pocet poll
- - 56 24 620122 620122
! 63 24 620122 620122
71 26 620227 620227
80 28 62042Z 620422
90 28 620522 620522
100 2.8 620627 620622
112 28 630622 630622
132 28 63082Z 630822
160 28 630922C3 63092ZC3
180 28 6311C3 6311C3
200 2-8 6312C3 6312C3
225 2-8 6313C3 6313C3
250 28 6314C3 6314C3
: - 2 6314C3 6314C3
48 6317C3 6317C3
e 2 6317C3 6317C3
4-10 NU319C3 NU319C3
Svorkovnicova skfin
Velikost 56-100
Velikost 112-200
VELIKOST| Max.proud | A B c 1 2 3 4 5
56 26 91 | 105 | 47 | M5X16 | M5X12 | M5X14 | 2-M20X15 | M4
63 26 91 | 105 | 47 | M5X16 | M5X12 | M5X14 | 2-M20X15 | M4
71 26 91 | 105 | 47 | M5X16 | M5X12 | M4X20 | 2-M20X15 | M4
80 26 105 | 109 | 54 | M5X16 | M5X12 | M5X20 | 2-M20X1.5 | M4
90-100 6.8 105 | 109 | 54 | M5X16 | M5X12 | M5X25 | 2-M25X15 | W4
112132 154 123 | 131 | 64 | M5X16 | M5X12 | M5X25 | 2-M32X15 | M5
160-180 425 165 | 180 | 80 | M6X20 | M6X16 | M6X20 | 2-M40X15 | M6
200 84,2 170 | 185 | 85 | M6X16 | M8X16 | MBX25 | 2-M50X15 | M8

www.hydroma.cz

www.hydroma.eu

www.hidromasistems.pl



	077-1Almotors-1
	077-1Almotors-2
	077-1Almotors-4

